This is from the sentence

amplete_bokh Cumulative_bokh xl

GARDSMR BRUKSNR | D NORD osT Count
a 14 £ 169626356 6533490.17 311464.83 1
!_ 14 Z 169627390 A533211.54 31163434 Z
I_ 14 £ 169626054 A532994, 06 311433.8 3
l_ 16 1245 169503954 A535296,5 31216197 1
i_ 16 1245 169303360 6535275.55 312126.79 Z
i_ 16 1245 1693035357 A535323.5 312263.83 3

Complete_both | Curlative_bokh xl

GARDSMR | BRUKSNR I I NORD osT Count
l 14 2 169826336 6233490,17 311464.53 3
E 14 2 169627390 A533211.54 311634.54 3
i 14 Z 169626054 6332994, 06 311435.8 3
i 16 1245 169503954 A3535296.5 312161.97 3
i 16 1245 169303560 6535275.55 312126.79 3
E 16 1245 169303537 A339323.5 3122583.53 3

Complete_baoth | Cumulative_baoth Surnmary_baoth I

GARDSMNR I BRUKSNR Count I
1|14 Z 3
16 1245 3

And here is a result from another program:

TEIGID KORD5YS NORD  @5T AREAL AF

169626336 22 6533490 311485  25200,1
169627390 22 6533212 311634 35833,3
169626054 22 6532994 311436 4641
Ant.Teiger 3



